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Verbal Ability & Reading Comprehension (VARC)

Question 1) The following sentence has been divided into three parts. One of these parts may
have a grammatical error. Mark that part as your answer. If there is no error in any part, then
choose No Error.

Everything is going well; (A)/ we didn't have (B)/ any problem at that time. (C)/ No error (D)

Question 2) Choose the grammatically correct sentence as your answer.

A. Recent years have withessed a growth in religious fundamentalism.

B. The book is essentially a exhortation to religious tolerance.

C. This period in history is not noted for its religious tolerant.

D. Rooney was booked for dissent after the referee failed too award United a penalty.

Question 3) Choose a word from the given options which can complete both the sentences
meaningfully.

I. Loss of memory is a natural of old age.

[I. An addition to the number of members in thefamily means a increase in expenditure.

A. automatic

B. natural

C. concomitant

D. companion

E. None of the above

Question 4) Fill in the blanks with the most appropriate words.

'A crippling foreign exchange which has resulted in an acute of fuel, food and
medicines, and _____ prices have left millions of Sri Lankans struggling to cope.

A. crisis, shortage, spiralling

B. policy, abundance, spiralling

C. reserves, severe, plummeting

D. emergency, supply, decreasing

E. deposits, crisis, glut

Question 5)Fill in the blank with the most appropriate idiom.
She decided to —— and tell him to leave.

A. play the devil's advocate

B. throw in the towel



C. bark up the wrong tree
D. drop the hat
E. take the bull by the horns

Logical Reasoning

Question 1) The series given below follows a certain pattern. What should come in place of the
question mark (?) in the following series?

AD, YV, CF, (?), EH, UR

A. XW

B. UV

C.RW

D.RIJ

E.WT

Question 2) How many symbols are there that are immediately preceded by an odd number and
immediately followed by a symbol?
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A. None

B. One

C. Two

D. Three

E. Four

Question 3) Seven people sit in a row facing the south. P, who is sitting at one of the extreme
ends, sits to the immediate right of Q. Two people sit between Q and R. S sits to the immediate
right of R. One person sits between T and R. U does not sit adjacent to T and Q. Who may sit
exactly between R and V?
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Question 4) Eight people sit in a row. A few of them are facing the north while a few are facing
the south. B sits fourth to the right of G, who sits at one of the extreme ends and faces the
north. D sits to the immediate left of B, who faces towards the north. H sits third to the right of F,
who does not sit second to the right of G. More than five people sit between C and G. What is
the position of C with respect to F?

A. Fourth to the left

B. Third to the left

C. Second to the right

D. Third to the right



E. Second to the left

Question 5) Kat is twenty-second from the left end in a row of 67 sprinters. What is her position
from the right end?

A. 45

B. 47

C. 46

D. 48

E. 44

Quantitative Aptitude (QA)

Question 1) A bag contains 1 rupee, 50-paise and 25-paise coins in the ratio of 8:5:3. If the
total amount of money in the box is Rs. 112.5, the number of 50-paise coins is:
a. 25

b. 50
c. 80
d. 30
e. 42

Question 2) X number of boosters checked into a hotel, but found that the rooms (y in number)
were too few for each to have one. Two rooms would remain vacant if each room was occupied
by 2, and 7 rooms would remain vacant if each room was occupied by 4. What is x-y?

a. 10

b. 12
c. 16
d 9
e. 8

Question 3) Tanuj takes a big cube whose sides are 4 cm each and cuts them equally into
smaller cubes having sides which are 1 cm each. How many smaller cubes will he get?
a. 32

b. 64
c. 128
d. 48
e. 96

Question 4) The position of how many digits in the number 523169 will remain unchanged if
the digit within the number is written in ascending order from left to right?

a. 3

b. 4
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Question 5) Quennie throws 2 ordinary dice and notices that the numbers on the sides that lie
exactly opposite to the sides that face her are 3 & 6, respectively. What shall be the sum total of
the number faces of both the dice?

a. 9
b. 7
c. 6
d 5
e. 11

Question 6) A 4-digit number is formed by using only the digits 1, 2 & 3 such that both 2 & 3
appear at least once. The number of all such 4-digit numbers shall be which of the following?
a. 24

b. 64
c. 27
d. 30
e. 50

Question 7) 125 small identical cubes have been put together to form a large cube. How many
such small cubes shall be needed to cover this large cube completely?

a. 276
b. 248
c. 28

d. 244
e. 218

Question 8) 2 men, A & B run a 4 km race on a circular-shaped course of 74 km. If their speeds
are in the ratio of 5:4, how often does the winner pass the other?

a. 4times

b. Thrice

c. Once

d. Twice

e. Fivetimes

Question 9) If Charlie cannot go to the market on Thursdays, Fridays, and Mondays and the
markets remain closed on Sundays, on what date can he go earliest if he wants to visit the
market on 2 consecutive days, if the last time he went to the market was on 27th of July of a
particular year which was a Wednesday?

a. 30th July



b. 31st July

c. 1st August

d. 2nd August
e. 3rd August

Question 10) An ordinary cube of side 8 cm each is painted on all its sides and later cut into
identical smaller cubes having sides 2 cm each. How many of such smaller cubes shall not be
coloured at all?

a. 16
b. 12
c. 20
d 6
e. 8



